secTioN K

BARCO Projection Systems service sheet




- SM POWER SUPPLY+StBy 76 2106
SUB MODULE 76 2106S

WARNING

THIS CIRCUIT BOARD IS HOT TO AC. THIS POWER SUPPLY, LIKE THE HIGH
VOLTAGE POWER SUPPLY, DOES NOT USE A LINE ISOLATION TRANS-
FORMER, MEANING A PORTION OF THE CIRCUITRY IS HOT-TO-LINE AND
SHOULD BE TREATED WITH CAUTION

Rev: 02

1]

SERVICE SHEET Date : 03/10/94 76 2106



















- SM POWER SUPPLY+StBy

SUB MODULE

76 2106
76 2106S

MAIN BOARD

Powar input mothse . 3
18114 ——] Jm——»—{%—« «58
E100 .
f OO 0V @-:3 : r
ST S BO0VM | ‘
THY ;
150 5 2100
D10%
St GND imﬂf
F 1oz
JU8Y GNOM wi Tl 1 SUPPLY
-
GHDIE
EX. 5
BLOCKING
LBIMUL 4
TCONTROL 3
2RO
CROSSING
REF.
: s
[ = . e -
ez e 350008
[ rmx:,nm e s 8
Ny TP W—- S
o SEHIET
MHIFT -
MAIN BOARD T T S SUB BOARD
Primary : Becondsry
300V g INTERCONNECTION MAIN-SUB BOARD
o106
P2 - . e AN BOARED SLE BOSRD
START oo FRN art | AT |l FARN
| c1os P RN o 711 T3 S ——
w2 S— OMIOT F oo | 3473 | 413
SUPPLY § fonnncd G 30V DEFL iy -5B 3008 | a4 | e 5B
DRIVE § = il VY | S | S | ol 5B
T b
FBHD i | J477 | AT | $BHD i
GHDE
L. mne
EX. s wt AR BOARE: S B
BLOCKING P
Y il | B IR ATV
DEFL i | SN2 | SN2 | DEFL o
L 4 3: IR ol | S F NS ] A i
i, | 438 | SR e
J{ R L R
PR FLT ) VT R —-—.
et | aar
FTHD i | 23978 | J308 | HTHO o il
CONTROL 3 e
zERD
CROSSING
ATV Drep SEPSI0Y
protection
7
REF,
Faws vonirol
¥
L KOS

SUB BOARD

L

Block diagram

{s]

Date : 03/10/94 76 2106




SM POWER SUPPLY+StBy 76 2106

SUB MODULE 76 2106S

TECAHNICAL DESCRIPTION SWITCHED MODE POWER SUPPLY (76 2106).

introduction.

Generation of the line fre-
guency independent volt-
ages.

On the main board of this module we find the generation of all stable voltages ,
we mean voltages independent on the line frequency, and the variable +HTHD
voltage (referred to as the second SMPS).

This second SMPS is linked via the subunit with the horizontal deflection
board as the +HTHD voltage (horizontal scan voltage) is linearly proportional
with the line frequency.

Because the ‘second’ SMPS utilizes the rectified voltage from the winding
P22-P24, this SMPS totaly depends on the “first’ one’ , or in other words, if the
first SMPS is down , the second one ‘follows’ .

The ON/OFF voltage delivered by the controller board can stop or start up
these Switched Mode Power Supplies.

The subunit comprises the DC-fan control the regulation circuit for the +HTHD,
its Under- and Overvoltage protection circuits, the +17volts drop protection
and the stand-by power supply.

The mains voltage is rectified on the Mains Filter unit (76 2114) and the +300 volts
is now the supply voltage for the power switches Q100 and Q101 on the main
board.

We assume that the thyristor TIC106C is conducting (its gate is not clamped at
ground level, see later).

The positive halfwave of the mains voltage (START) charges C102viaD104 . The
gate of the thyristor is set at 11 volts with the zener Z100 through R101 from the
+300volts.

As soon as the capacitor voltage of C102 reaches approximately 12 volts, the IC
can start up by driving the base of the power switch.

The diode D104 stops conducting as its anode is at about (11 + 0.6) volts.
The thyristor gets blocked as well, because its cathode equals the gate voltage.

In the meantime the 1C102 has started up and the voltage at pin 9 receives its
supply voltage now from the winding 24-22 of the T2 transformer via D109.

The push-pull outputs, pins 7 and 8, drive the Q101 power switch and during the
off time of the latter the accumulated energy in the primary winding is transferred
to the secondary capacitors via the rectifying diodes (flyback principle).

The feedback winding 21-22 provides two informations for the control IC :

Firstly, the waveform is sent to pin 2 where the zero passages are detected,
useful to drive the power switch on at the the exact moment.

Technical description

6]

Date : 03/10/94 76 2106




SM POWER SUPPLY+StBy 76 2106

SUB MODULE 76 2106S

Generation of the +HTHD
voltage {scan voltage).

Overvoltage protection.

The base drive is delayed untill the energy in the transformer has been
completely transferred to the secondary side. By this measure, the current
through the power switch is reduced to a minimum.

Secondly, the negative amplitude is rectified by D111 and compared with the
reference 4 volis that is available at pin 1.

The error voltage is now sent to pin 3 and serves as a control voltage to adjust the
duty cycle and frequency of the switcher.

The same windings also serves as a help at starting up. This windings provides
energy the moment the P22-P24 winding does not. The rectified voltage passes
to pin 9 up to the moment that pin has reached 12volts.

The current through the power switch is at all times checked and iftoo high (in the
event of a short on the secondary side) the comparator 393 (IC101) output drops
the error voltage in order to adapt the duty cycle of the switcher.

Note that a"special” winding is provided, delivering +17M, or, a voltage related to
the Mains ground and not the chassis ground. This voltage is utilized on the EHT
board, because the drive circuit for the power switcher is Mains ground and not
Chassis ground. (see description EHT board).

This voltage is linked with the horizontal deflection board as it has to be adapted
to the scanning frequency. A feedback voltage (FBHD) is for that reason arriving
on the subunit.

This feedback voltage, at contact J4(7) of the subunit, is sent to the base of the
error amplifier Q6. The potentiometer P2 allows an adjustment of this feedback,
or in other words, the horizontal width can be aligned with P2.

The emitter of Q6 is set at a reference zener voltage, adjustable with the voltage
at the regulating pin of Z8. This voltage is the result of the output of the DC-
amplifier- buffer 353, combined with the +HTHD voltage.

By this measure, we reduce the range of the horizontal width at high scanning
frequencies. Indeed, at standard video frequency we need much more range to
overscan.

The collector current of the regulating transistor Q6 flows into the opto-coupler IC5
and the phototransistor of this insulating device is now regulating the DC voltage
at pin 3 of IC100, in order to stabilize the +HTHD voltage for one typical line
frequency and amplitude setting.

Q7 is a 5mA current generator and D10 a green LED to visualise the +HTHD
voltage.

Pin 2 of the 393 (IC4) is set at 5.6 volts with Z10 and, the other input, pin 3 is the
scan voltage divided by R38/R38.

As soon this input exceeds the zener voitage, the output switches high and
saturates transistor Q9. The +HTHD voltage is dropped to a low level.

The original overvoltage protection is now is causing an undervoltage protection.

Technical description

7]

Date : 03/10/94 76 2106




SM POWER SUPPLY+StBy 76 2106

SUB MODULE 76 2106S

Undervoltage protection.

Stand-by / ON-OFF switch-
ing.

The stabilized zener voltage with Z8 is used as reference voltage for the
comparator 393, pin 6. Now, the other pin § is the +HTHD voltage.

If the pin 5 drops below the reference voltage, the output switches low, and the
transistor Q8 saturates, pulling again pin 2 of IC5 low.

Protection against too low +17 volts.

If, for some reasons, the +17 voits (and all the other voltages as well) are, even
temporarily, too low, it is then advised to shut down the +HTHD voitage (coming
from the other SMPS).

Pin 6 is preadjusted, ex factory, at approx. 14 volts with P1

This happens with the comparator in IC3 and its output pin 7 saturates again Q8.
Temporary shut down at switching.

The "DEFL" info from the HOR DEFL board can switch on Q10 via Q11 and

also pull down pin 2 of IC5. This is necessary the moment the relays switch
the two windings of the scan coils from series to parallel or vice versa.

An oscillator is built up around Q1/Q2 and the transformer T1. ,

Q1 gets its base current via R3. The collector current of the latter flows in the
winding 1-3 and induces a voltage in the winding 5-4 ' encouraging' the base
current.

As soon the emitter voltage of Q1 can drive the Q2 and saturate it, this transistor
clamps the base of Q1 at ground level and cuts off Q1. The cycle starts allover
again.

Two opposite polarity SBvoltages (+/- 9volts) are available at the secondary side.
a) Stand-by mode (OFF).

The voltage at contact 3 of the J4 connector (‘OFF) is in this case ‘high’ and this
means for the optocoupler IC1 that the phototransistor is not conducting.

Q3 is thus saturated as R6 can provide the required base-emitter current.

The collector of Q3 is 'low’ .Furthermore, pin 5 of IC102 is below its "active level"
via the diode D105 disablin,g the drive output.

As a conclusion, only the standby voltages +/- 9 SB voltages are available.
b} Operational mode {ON).

The /O block of the controller board { collector of a transistor) pulls now contact
3 of J4 at a low level to light the LED in the opto-coupler IC1.

Now, the phototransistor of the latter is saturated and brings the base of Q3 at
nearty ground level. This means now for this transistor an OFF state.

(%]

Technical description

Date : 03/10/94 76 2106




SM POWER SUPPLY+StBy 76 2106

SUB MODULE 76 2106S

DC Fan control of the fans.

Power supply for the EHT
generator.

The zener Z100 on the motherboard can now install +11 volts at the gate of the
thyristor allowing the charge of the capacitor C102.

The speed of the fans is regulated by means of a sensor (NTC resistor) mounted
close to the heatsink of the SMPS board.

IC2 is an integrated circuit regulating the speed of the fans by adapting the duty
cycle of the output drive for the power transistor Q4. L1 and C7 filters the output
voltage.

The feedback is applied to pin 5 which is protected against arcing with D4/D5.

MC34063 is a switching regulator. An oscillator trimmed with C6 is applied
together with a dc voltage to an RS-flipfiop via an AND gate. That DC voltage now
is the result of a comparator output receiving aninternal reference voltage of 1.25
volts and the feedback voltage at pin 5 (comp). Consequently, the duty cycle
depends on the DC voltage that is built up as follows :

- itis determined by the output voltage viaR13/R14/R11 in order to stabilize the
latter for a well-determined value of the NTC resistor.

- it is equally influenced by any change of the NTC resistor itself, sensing the
heatsink of the SMPS board.

The minimun voltage is set by Z5 at approximately 7.5 volts and the maximum
speed by 24 + Z4. at 15 volts.

The maximum current output is limited by R10, and an RC feedback straight from
the output to pin 5 provides a more regulor speed at any time,

The EHT generator is supplied directly from the rectified mains voitage. The
+300M volts is leaving the board at the contacts 31/32 of the J8A connector
for the EHT board (see description of that board)

By above measure, we eliminate the influence of the EHT load on the perform-

ance of the power supply, and the maximum peak current of the EHT genera-
tor is increased.

9]

Technical description

Date : 03/10/94 76 2106




SM POWER SUPPLY+StBy 76 2106

SUB MODULE 76 2106S

IMPORTANT

PREPARATION

ADJUSTMENTS

The SM POWER SUPPLY has to be adjusted when the projector displays a picture
of the internal generated testpattern or of an input signal at standard line- and frame
frequency.

Select the internal generated test pattern or an input source at standard frequency
{refer to owner's and installation manuat).

Put the BRIGHTNESS and CONTRAST level in mid-position (refer to owner's
manual).

Adjustment on main board
a) Adjusting Vout P100

Connect a voltmeter to the provided test point (+17.5V).
Adjust potentiometer P100 for +17.5V on testpoint.

b) Adjusting +14V P1

important. P1is factory pre-adjusted. A readjustment is only necessary after a
replacement of a defective component in the +17V drop circuit.

Adjustment procedure: Connect a voltmeter to the testpoint TP1.
Adjust potentiometer P1 for +14V on that TP1.

Adjustment procedure

m

Date : 03/10/94 76 2106




SM POWER SUPPLY+StBy 76 2106
- SUB MODULE 76 2106S

c¢) Adjusting MAX HOR AMPL P2
Adjust the Horizontal Amplitude of the displayed picture by means of
the RCUB00 on its maximum (bar scale on screen indicates 99).
(Refer to the owner's manual to select the corresponding menu).

Connectavoltmeter to the collector (Collector connected to mounting
base) of transistor Q3 (BDVESC) on the Hor. Defl. board.

Adijust potentiometer P2 for +48V (HTHD) on collector.

HORIZONTAL DEFLEC-
TION MODULE
{Top view)

d) Adjusting picture heater voltage P3

Adjust potentiometer P3 for +6.75V across diode D15.

(]

Adjustment procedure Date : 03/10/94 76 2106




SM POWER SUPPLY+StBy 76 2106

SUB MODULE 76 21065
PARTS LISTING 76 2106 CPL
SIT. ITEMNO. DESCRIPTION QUANTITY ~ ITEMNO. SIT. DESCRIPTION
30  R133036 SPRL6 D6 D24C 3 C122 R111477 C EL RA 100M Z 25E2 85
50  R133039 SPRL8 D4 D12C 6 C124 R1127475 C CE Mi 4NTK 63E2
122 R133083 QACCISOMICA SOTS3 2 C200 R111649 C EL RA 47M T350SKT 85
224 R133074 QACCISOSILE00 W30 007  C201 R111649 C EL RA 47M T350SKT 85
225 R133074 QACCISOSILEOD W 30 008  C202 R1114909 C EL RA1000M M 50E3 105

C203 R111564
C204 R1114908

c
C
C
c
o
C EL RA 220M M200E4 105
C EL RA1000M M 50E3 105
€206 R1114708 C EL RA2200M M 16E3 105
C207 R1114708 C EL RA2200M M 16E3 105
C208 R111575 C EL RA 100M M315E4 105
C
C
C
c
o
c
Cc
Cc
c

=

70 R314516 F ACC HLDR 6A 5X20 PC/HSG
1050 R315302 JPINPRD13L55+3

e

B e I T T S S e .

1040 R34B019 CBLACC TIEBLIOOW2S 2
123 R348069 GRMTT3 D10 1 C209 R1114808¢ C EL RA1000M M 50E3 105
120 R348086 CBLACCSLCSEDGSS 1 C210 R1114688 C EL RA470M M 16E2 105
400  R34829802SLVU SHR D3,211,6 BLK 20 1 C211 R1114708 C EL RA2200M M 18E3 105
C212 R1114708 C EL RA2200M M 16E3 105
213 R3619125 SCR D965 M3 X 6 PSB 1 €213 R111716 CE Mi 680 102E3 HV
306 R3619145 SCR D965 M3 X 10 PSB 1 C214 R111575 EL RA 100M M315E4 105
22 R3620226 SCRDB4 M3 X 8 SI 1 G215 R111716 CE Mi6B0P 102E3 HV
21 R3626696 SCR D921 M3 X 8 Si 2 C220 R111489 EL RA470M T 35E2 85
305 R3626696 SCR D921 M3 X 8 S 1 C221 R111489 EL RA470M T 35E2 85
111 R3631049 SCRDY33 M3 X 6 XIC 5 C300 R1147008 C CE Dl 4N7M400ES Y
211 R3631048 SCRDY3I M3 X 6 XIC 1
130 R3631059 SCRDE33 M3 X 8 XiC 5 D104 R131646 D R 1N4007 10201A DO41 1
214 R3631059 SCRDY33 M3 X 8 XiC 4 D105 R131621 D S 1N4148 075150 DO35 1
304  R3631059 SCR D933 M3 X 8 XiC 2 D106 R131906 D RBYVIGE 1021A5 SODS7 1
223 R3631079 SCR D33 M3 X 12 XIC 4 D107 R131646 D R IN4GOT 10201A DO41 1
215 R3631089 SCRDY33 M3 X 16 XIC 2 D108 R131637 D RBA158 8600400 DO7 1
110 R367600 NUTBLOC M3 3 D108 R131637 D RBA158 600400 DO7 1
210 R3IB7E00 NUTBLOC M3 4 D110 R131646 D R 1N4007 10201A DO41 1
303 R367600 NUTBLOC M3 2 D111 R131637 D RBA158 600400 DOV 1
20 H3676091 SPRL17 H55M3 BIN 1 D112 R131806 D RBYVOGE 1021A5 S0D57 1
1010 R3I6T699 RVT CHB D2.38L635 PA & D113 R131637 D RBA158 600400 DO7 1
D114 R131846 D R 1N4007 10201A DO41 1
1000 R722276 LOCK PJ48 PCB UN CPL 1 D200 R131913 D RBYZ29 10207A TO220 1
D201 R131827 D RBY229 60007A TO220 1
200 RBOZ2631 HTSNK PJ48 SMP PART 2 1 D202 R131927 D RBY228 B0007A TO220 1
100 RB03214 HTSNK PJ51 SMP PART 1 1 D203 R131827 D RBY229 80007A TO220 1
121 RB04832 QACC SPG 1XM3 LONG 2 D204 R131827 DRBY229 60007A TO220 1
220  RB04833 (Q ACC SPG 2X 3.1 LONG 2 D205 R131913 DRBY229 10207A TO220 1
221 RB04834 QACC SPG 2XM3 LONG 2 D206 R131827 DRBY229 60007A TO220 1
300 RBO5072 FRMPJ51 G12 HTSNK T SCRN 1 D207 R131806 D RBYVSBE 1021A5 S0DS7 1
302 RBO5075 FRM PJ51 G12 HTSNK SPRING 1 D208 R131827 D RBY229 60007A TO220 1
301  RBO5078 FRM PJ51 G12 HTSNK CPL 1 D208 R131827 D RBY229 80007A TO220 1
D210 R131927 D RBY229 60007A TO220 1
R762106S UN SMP PJ51 G1200 +STBY 1 D212 R131827 DR BY229 60007A TO220 1
C102 R111478 C EL RA220M Z 25E2 85 1 F100 R314147 F 5X20F 3A15H RUNDE 1
C103 R111578 C EL RA 100M M400E4 85 1 F200 R314188 FTR5 T 4A L RUNDE 1
C104 R1114879 C EL RA 100M M 35E2 85 1 F201 R314188 FTRS T 4A L RUNDE 1
C105 R111477 C EL RA 100M Z 25E2 85 1 F202 R314189 FTR5 T BA3 L UL/CSA 1
C106 R1150051 C PPMERA 2N2J152E9 HV 1 F203 R314189 FTRS T B6A3 LULICSA 1
C107 R113724 C POMERA 100N K 83E2 1 F204 R314187 FTRS T 3A15L RUNDE 1
C108 R114090 C POMERA 1M M63E2 1 F205 R314188 FTR5 T 4A L RUNDE 1
C108 R115834 C PP RA 5N6J63E2 1 F206 R314188 FTR5S T 4A LRUNDE 1
C110 R112740 C CE MI 1N2K100EZ 1 F207 R314186 FTRS T 2A LRUNVDE 1
C111 R112238 C NPOMI 47P G B3E2 1 F210 R314186 FTRS T 2A L RUNDE 1
C112 R115832 C PP RA 4N7J83E2 1
C113 R111468 C EL RA470M Z 16E2 85 1 MO0 R132787 U4601 TDA SIPS P 1
C114 R111477 C EL RA 100M Z 25E2 85 1 1101 R134114 U383 LM DIP8 P 1
C115 R1150051 C PPMERA 2N2J152E9 HV 1 1102  R132787 U 4601 TDA SIPS P 1
C116 R113724 C POMERA 100N K 63E2 1
C117 R115936 C PP RA 6N8J6G3E2 1 J Z34217210 WU UL1007 AWG24 ST RD 100 1
C118 R114080 C POMERA 1M MB3E2 1 J 1 Z3484033 CDCT FTMTP3 190 1
C119 R115634 C PP RA 5N6J63E2 1 4 2 Z3484042 CDCT FTMTP4 180 1
C120 R112738 C CE Ml 1N K100E2 1 43 R3484082 CDCT FIMTPB 150 1
C121 R111477 C EL RA100M Z 25E2 85 1 J 4 R3484074 CODCT FIMTP7 170 1

12]
Parts listing Date : 03/10/94 76 2106




SM POWER SUPPLY+StBy

76 2106

SUB MODULE 76 2106S
J & R3484022 COCT FIMTP2Z 240 1 R11C R101145 R CFH 5K8.J OW25 1
J 7 Z3484033 CDCT FTMTP3 180 1 R111 R103226 R MO H150E J1W5 1
J10  R3I13525 JEUR2C MBS PB4 E1C2818 1 R112 R100136 R CFV 1K JOW25E2 1
J12 R3484058 CDCT FTMTPS 220 1 R113 R101128 R CF H220E JOW25 1
J20 R314068 JEUR3C MBS P96 E1C2S5 16 1 R114 R101129 R CFH270E JOW25 1
R115 R101136 R CFH 1K JOW28 1
L100 R302108 CORETUBE 35/1.3X3 1 R116 R101160 R CF H100K JOW25 1
L1017 R302108 CORE TUBE 35/1M.3X3 1 R117 R101135 R CFHB820E JOW25 1
L102 R302102 CORE TUBE 4.95/1.3 X405 1 R118 R101120 R CFH47E JOW25 1
L103 R3061322 CHAXNS 10 UH 1 R118 R102488 R MFH E33J0Ws6 1
L104 R3061322 CHAXNS 10 UH 1 R120 R101217 R MFH27E JOWE E4 1
L200 R305913 CHMNS AX 12 UH 3A 1 R121 R103600 R WWH E1K4W 1
L201 R305913 CHMNSAX 12 UH 3A 1 R122 R101265 R MF H270K JOWS6 E4 1
L202 R305913 CHMNSAX 12 UH 3A 1 R123 R101143 R CFH 3K8JO0W25 1
L203 R305813 CHMNS AX 12 UH 3A 1 R124 AB551674 R MF H430K F 0W6 1
L204 R305913 CHMNS AX 12 UH 3A 1 R125 R101148 R CFH 12K J0W25 1
L2085 R305913 CHMNSAX 12 UH 3A 4 R126 R103228 R MOHMH1I50E J1WS 1
L210 R305913 CHMNS AX 12 UH 3A 1 R127 R101146 R CFH 6K8.J OW25 1
L211 R305913 CHMNS AX 12 UH 3A 1 R128 R101136 R CFH 1K JOW25 1
L212 R305813 CHMNS AX 12 UH 3A 1 R128 R101136 R CFH 1K JOW25 1
L2156 R305913 CHMNSAX 12 UH 3A 1 R130 R101128 R CF H220E J OW25 1
L216 R305913 CHMNSAX 12 UH 3A 1 R131 R100137 R CFV 1K2JOW25E2 1
R132 R100145 R CFV 5K6J0OW25E2 1
P100 R106829 RTCEV 10K KOWS 81088 1 R133 R1011403 R MFH 2K F OW25 1
R134 R1011807 R CFFH E1J0W4 1
PC R780117 PCD PJ51 G1200 SMP 1 R135 R101127 R CFH180E JOwW25 1
R138 R101127 R CFH180E JOW25 1
Q100 R132813 QBUP101 NP TO218 1 R200 R104656 R HVH 1M2J0WS 3500 1
Q101 R132813 QBUP10T NP TO218 1 R202 R1011907 R CFFH E1J0W4 1
R300 R104672 R HVH 5M6JOWS 3500 1
R101 R101267 R MF H390K JOWE E4 1 R301 R104672 R HVH 5MB.JOWS5 3500 1
R102 R101144 R CFH 4K7JOW25 1
R103 R101266 R MF H330K JOW6 E4 1 T100 R774356 T PJ56 GBO2 SMP VAR 1
R104 R102498 R MFH E33J0WS6 1 T101  R7743227 T PJ49 SMP G1200 FIX 1
R105 R101217 R MFHZ27E JOWE E4 1
R106 R103600 R WWH E1K4W 1 TH1 R1322101 QTIC108D THP TOBE 1
R107 R101265 R MF H270K JOWE E4 1
R108 R101136 R CFH 1K JOW25 1 2100 R131740 D ZEN 12V OW5 CDO34 1
R10% R101145 R CFH 5K6JOW25 1 2101 R131787 D ZEN 51V OWS5 CDO35 1
PARTS LISTING 76 2106S
SIT.  ITEM NO. DESCRIPTION QUANTITY SIT. ITEMNO. DESCRIPTION QUANTITY
120 R1330291 QACCISOMICA TO220 2 130 R804874 QACCSPG 1XM3 SHORT 1
121 R1330292 QACCISOBSHG TO0220 2
60 R133039 SPRLS8 D4 D12C 6 C 1 R112830 C CE DI 2N75400E3 1
132 R133063 QACCISOMICA 80783 1 C 2 R1128111 C CE DI 68P M102E3 1
20 R133072 QACC HTSNK TO220 1 C 3 R112815 C CE DI 150F M4OOE3 1
C 4 R111468 C EL RA470M Z 16E2 85 1
70 R3132862 JMD1 MBTPZEI1SN i C 5 R111468 C EL RA4TOM Z16E2 85 1
C 6 R1159141 C PP RA B20P J100E2 1
220 R348018 CBLACCTIEBLIOOW2SE 2 C 7 RY11479 C EL RA470OM Z25EZ 85 1
C 8 R111488 C EL RA470M T 35E2 85 1
21 R3631059 SCRDB33 M3 X 8 XIC 1 C 9 R113720 C POMERA 47N K 63E2 1
111 R3631059 SCRDS33 M3 X 8 XiC 5 C10 R113720 C POMERA 47N K 63E2 1
131 R3631059 SCRDY33 M3 X 8 XIC 1 C11 R114154 C POMERA 22N K400E2 1
122 R3631069 SCRDB33 M3 X 10 XiC 1 C12 R111550 € EL RA 4MTMS50EZ BS 1
201 R3631069 SCR D933 M3 X 10 XIC 1 €13 R113720 C POMERA 47N K 83E2 1
22 R3661026 NUT D934 M3 | 1 C14 R1137121 C POMERA 10N K100E2Z 1
124 R3661026 NUTDB34 M3 | 1 C15 R111550 C EL RA 4M7MS50EZ 85 1
202 R3661026 NUTDS34 M3 | 1 C17 R111831 C EL RA 10MM35E2 85 1
123 R367502 WSHRD6798A32 SZ 1 C18 R1137121 C POMERA 10N K100E2 1
110 R367600 NUTBLOC M3 3 C1% R111468 C EL RA4TOM Z 18E2 85 1
C20 R112762 C CE Ml 4N7U100EZ2 1
10 R721850 R ACC CLIPS TCEV PROTECT 2 C21 R112740 C CE MI 1N2K100EZ2 1
C22 R113724 C POMERA 100N K 83E2 1
100 RB03213 HTSNK PJST SMP PART 3 8UB 1 ©23 R111489 C EL RA4TOM T 35E2 85 1
200  R803237 FRM PJ51 SMP FIX 1 C400 R113730 C POMERA 330N K 63E2 1

{13]

Parts listing

Date : 03/10/94 76 2106




SM POWER SUPPLY+StBy

76 2106

SUB MODULE 76 2106S
C401 R113724 C POMERA 100N K 63E2 1 R10 R1011807 R CFFH E1J0W4
R11 R101148 R CFH10K JOW25
D1 R131637 DRBA158 600400 DO7 R12 RI101155 R CF H 38K JOwW2s
D 2 R131637 DRBA158 600400 DO7 R13 R101149 R CFH 12K JOW25
D3 R131950 DRBYV27 150024 SOD57 1 R 14 R101144 R CFH 4K7 JOW25
D4 R131821 DS 1N4148 075150 DO35 R15 RIi01138 R CFH 1K5JOW25
D5 R131621 DS 1N4148 075150 DO35 R16 R101144 R CFH 4K7JO0W25
D6 R131621 DS 1N4148 075150 DO35 R17 R101156 R CFHA47K JOW25
D7 R1316361 DY BAT85 030200 DO35 R18 R101140 R CFH 2K2J0OW25
D 8 R131621 DS 1N4148 075150 DO35 R18 R101144 R CFH 4K7JO0W2s
D10 R131667 DLEDD3 TGRN 1 R20 R101154 R CFH33K JOwW2s
D11 R1316361 DY BAT85 030200 D035 R21 Ri01145 R CFH 5K6J0Wz5
D12 R131621 DS 1N4148 075150 DO35 R22 R101154 R CFH33K JOwW25
D13 R131621 D S 1N4148 075150 DO35 R23 Ri101161 R CF H120K JOW25
D14 R131621 DS 1N4148 075150 DO35 R24 RI101168 R CF H470K JOW25
015 R131806 DRBYVYBE 1021A5 SOD57 1 R25 R101161 R CF H120K JOW25
D16 R131806 D RBYVYGE 1021A5 SODS7 1 R26 R101169 R CF H580K JOW25
D400 R131646 D R 1N40O7 10201A DO4Y R27 R101181 R CFH 18K JOW25
D401 R131846 D R 1N4007 10201A DO41 R28 R101154 R CFH33K JOwzs
R29 R101145 R CFH 5K8.JO0W25
F 1 R314519 FACCHLDR B5X20PC/UL 1 R30 R101163 R CF H180K JOW25
F1F R314142 F 5X207 O0A125L RUNDE 1 R31 R101168 R CF H47K JOW25
R32 R101172 R CFH 1M JOW25
i1 R131691 UB01G-3 SFH DIP6 P 1 R33 R101172 R CFH 1M JOW25
12 R137625 U 34063 DiPg P 1 R34 RiID1236 R MFH 1K FOWS
I3 R134116 U353 LF DIP8 P 1 R35 R101162 R CFH150K JOW25
I 4 R134114 U393 LM DIPS P 1 R36 R101137 R CFH 1K2ZJOW25
15 R131691 UB01G-3 SFH DIPE P 1 R37 R101130 R CF H330E JOW25
-1 R134028 U3TT TOZ220 P 1 R38 R104658 R HVH 1M5JOWS 3500
MO0 R134010 U 7815 TO220 P 1 R 38 R1025541 R MF H 30K GOW25 1
R40 R101144 R CFH 4K7 JOW25
J 2 R313943 JCTH MBS P3M2SN 1 R41 R101148 R CFH 10K JOW25
J 3 R313928 JCTH MBTP8M28N 1 R42 R101140 R CFH 2K2 J0W25
J 4 R313927 JCTH MBTP7M28N 1 R43 R101156 R CFH47K JOw2s
J 6  R313822 JCTH MBT P2 M2SN 1 R44 R101131 R CF H380E JOW25
J 7 R313844 JCTH MBS P4 M2SN 1 R45 R101148 R CFH10K JOW25
J10 R313823 JCTH MBTP 3 M2SN 1 R46 R101165 R CF H270K JOW25
J12  R313825 JCTH MBT PS5 M2SN 1 R47 R101148 R CFH 10K JOW25
R48 R1046B8 R HV H27TM JOWS 3500 1
L1 R305809 CHTORV 1500 UH 2A 1 R49 R101159 R CFH82K JOW25
L2 R306222 CHTORV 80 UH 2A 1 R50 R101136 R CFH 1K JOW25
R51 Ri01165 R CF H270K JOW25
NTC1 R105018 R NTC 2K7 OW25 1 R52 R101148 R CFH10K JOW25
RE3 R101180 R CFH15K JOW25
P 1 R1068827 RTCEV ZK KOWS5 51088 1 R54 R101148 R CFH10K JOW25
P2 R106832 RTCEVS0K KOWS5 S1088 1 RS55 R101132 R CFH470E JOW25
P 3 R108724 RTCEH200E KOWS S10TS 1 R56 R101132 R CFH470E JOW2S
RB0 R1011284 R MF H200E FOwW2s
PC R780116 PCS PJS1 G1200 SMP SUB 1 R81 R101138 R CF H820E JOW25
Q1 R132935 QBUX87 NP TO126 1 SR62 R1011246 R CFFH100E JOW35 1
Q2 R1314071 G BCS47B NSSTOS2 1
Q3 R1314071 QBCS47B N SSTO92 1 T 1 R306718 TPJ49SMP  STAND-BY 1
Q4 R132909 QBDE52 DPP TO220 1
G5 RI3413 QBCEST  PSSTO 1 TP1 R315302 JPINPRD1.3L55+3 1
Q6 R1314072 QBCB47A N S8STO92 1
Q7 Ri31471 QBF458 NP TO126 1 Z 1 RI3M706 DZEN 8V10WS CDO41 1
Q8 R1314131 QBCS57B PSS TOS2 1 Z 2 RiI31706 DZEN 8V10WS5S C DO41 1
Q9 R1314071 QBCS47B N SSTO92 1 Z 3 R131767 DZEN 6V80WS5 B DO35 1
Q10 R1314131 QBCSS7TB PSS TOS2 1 Z 4 R131767 DZEN 6VBOWS B DO3S 1
Q11 R1314131 QBCS57B PSS TOS2 1 Z 5 R131742 DZEN 6V80OWS5 C DO35
R1 R101346 R CFH 8K8J1W 1 Z 6 R134031 U431C TL TO82 P 1
R3 R104656 R HVH 1M2JOWS5 3500 1 Z7 R131756 DZEN 7V50W5 C DO35
R4 R1011134 R MFH12E JOW2s 1 Z 8 R134031 U43C TL TO82 P 1
R 5 R101142 R CFH 3K3JO0w2s Z85 R131758 DZEN 7V50WS C DO35
R 6 RI01180 R CFH100K JOW25 Z10 R131734 DZEN 5V60WS5 B DO35
R7 RI0O13E R CFH 1K JOwW25 Z11 R131744 DZEN 5V6OWS5 C DO35
R 8 RI01140 R CFH 2K2JOW25 Z12 R131780 D ZEN 33V 1w C DO41 1
R & R101130 R CF H330E JOW25

(]

Parts listing

Date : 03/10/94 76 2106




76 2106
76 2106S

SUB MODULE

SM POWER SUPPLY+StBy

S 80 2631
> 31 3944(J7)
80 5075

31 4519 (fuse holder)

/ 31 4142 (fuse)

31 3843(J2)

133039
80 3214

& A&m&m

for] T

i

e N 33588

& NN NN

2] Ll

o &t 68 &b ©

- o 90 0w W

- e T g e

= o

e g e g

[ IR o dR or I o B o)

o P

e

0 \
W
L=
o3

}

Date : 03/10/94 76 2106

31 4188(F200)
31 4186(F207)
31 4189(F202)

- 31 4186(F210)

0
//
\Lm

6718

[f

o ] 9
3 o ¥
ﬂl 3 = o=
b ) s
= 2
o 5
© 5% )
— -
oy : «»"u

e.f. Y &

>0

Py
3y 3
i 4

w  E22g
= n i
FE<ddss
z e
£ zxpd
i we
U dT{ea&
MM. WCme
E o sxrds
1% MAE&M
g 2353%
o) = Spp
€ £208%
& 835ESS

T3 H

Smmm

77 4356(T100) N 34 3505

31 3923(10)
31 3922(J6)
13 3039

36 7600

o

R134{10 11807)
C300(11 47009)

13 3039
31 4068
36 76091

R300(10 4672)
R301(10 4672)

80 3213

[15




